SHEER ERXE HEFAMALGR - #BHE BR
S v X = 2 | onern | pmen | "% | nere | snoes | e [amsees
wox oW | % o ¥ B 60 155| 39 60 148 5 10
= ¥ = Bt 107 137| 78 103 131 21 11
T L T S 68 68| 100 61 64 16 14
koA & O B K ¥ A 68 9| 71 68 90 14 12
% i At 243 301| 81 232 285 51 37
= B £ At 61 223 27 61 213 4 6
A ¥ A 77 261 30 74 251 4 11
mEEW| 2 Bt % B 38 139| 27 36 137 4 2
¥ ¥ V7 v XY AV b ER 37 156 | 24 37 151 3 2
= i o 213 779| 27 208 752 15 21
® ¥ = - = 20 28| 71 17 21 2 2
o | PR T - A 23 16| 144 19 14 3 2
£ % = - = 25 31| 81 20 26 2 4
% it 3 68 75| 91 56 61 7 8
2 # B e A 39 24| 163 28 19 2 2
BLEW | G ft 3 A 24 M 7 19 28 2 4
e m T 2 A 54 81| 67 44 70 3 6
® % ® T @ f& T ¥ # 50 67| 75 44 58 3 9
£ &2 B O®E T ¥ R 20 36| 56 17 29 2 4
= x A ¥ — @ B % 22 31| 7 22 27 2 4
¥ i Bt 277 348 | 80 230 292 21 37
K YW | B 5 ¥ B 100 107 | 93 94 96 9 9
H&-vAAF AT RE K 37 9 | 39 37 87 2 3
N L L T 60 54| 111 60 54 2 17
B -2bS3<0KREK 41 89 | 46 40 80 1 2
% i B 138 239 | 58 137 221 5 22
T EEE R 19 32 59 14 28 8 10
w W | W # e B 29 60| 48 28 59 10 2
B ox & E B ¥ B 40 5| 800 33 4 8 4
A B 3 B 36 31| 116 33 28 4 2
BOR £ & % B 29 18| 161 25 17 3 6
B oW | & & % % 0% A 39 13| 300 36 13 7 8
® o®  F B % A 42 22| 191 36 18 6 5
£ m % B ¥ B 39 14| 279 35 13 10 7
% i Bt 225 103 | 218 198 93 38 32
i # T e A 18 6| 300 16 6 1 4
# & ¥ T ¥ A 20 8| 250 18 7 9 4
£ B % £ T ¥ =& 18 13| 138 18 10 8 6
AMBIEE | £ & 0 O® 0T % A 11 12| 9 7 9 5 2
AW BRET VAT %R 14| 43 12 2 5
= G T % A 6 4| 150 6 4 1 2
¥ i Bt 79 57| 139 70 48 26 23
£ % £ & T ¥ # 9 14| 64 8 12 7 9
f B T 3 B 23 13| 177 17 11 3 6
RN 13 10| 130 8 10 5 5
T ¥ ®w| ® F K #® T ¥ #® 16 14| 114 11 11 8 3
t# # = B 23 14| 164 19 10 5 6
e 5 ¥ Bt 14 8| 175 12 6 7 5
¢ i o 08 73| 134 75 60 35 34
# = #t 1481 | 2254| 66| 1,346| 2,082 223 237

X IR — SRS EEEEAE 2100 L ET,

X1 TSGR A UL, FEFE A IERRFOLEYE T,




SHIEE EHRAFE HESFAMHEAAR - #HB1E 8871
. 3 A 8 H 3 H 9 H .
W FR R K T T A R RER B % % |ARREA m e w |
ST = & = # 158 93 158 16.0 | 200
= # = 7 149 4.4 152 55
e wrm| B B & # % & 151 3.9 150 3.8 | 200
e & & % B K % § 154 37 152 7.0
= E = & 161 155 159 15.0
. # = # 162 19.5 159 17.5
#E W 2 2 . £ 159 9.0 163 9.0 200
* %V 7 < XA ER 161 19.0 155 9.0
% %= = - = 151 9.0 189 8.0
men| m B % o — x 151 9.0 146 5.0
t % =2 — = 147 9.0 148 11.0
= @ ® =z #° 150 14.0 173 14.0
m T 2w | & At = & 158 9.0 167 10.0 | 200
&  ®m T = 158 10.0 166 24.0
% 8 7T 8 R T %M 164 20.0 151 12.0
#t &= ‘® OE I % #B 145 11.0 146 6.0
= % 4 % —m B % M 147 10.0 153 12.0
&R Zw | B = = # 161 10.0 158 11.0 | 200
O —————— 214 20.0 216 17.0
petezrrBTE2 0w x w % 214 29.0 216 31.0 | 250
B -¥b OV RER 199 19.0 - -
T EE A 177 1.8 173 1.8 | 300
ww o m | w = & 209 3.0 226 2.7 | 300
B % £ E F % A 142 3.8 137 45
X = = # 144 8.0 149 8.5
N 5 A £ @ & % A 157 14.0 154 55
BRo= W & & % E = # 147 6.0 153 45| 20
= = & ® % #° 147 5.7 149 6.3
E w ® & B % M 134 53 134 2.7
x  w T = B 3 3 160 8.0
& & F T = # 122 1.8 127 23
N & @& % 2 T % # 126 3.0 131 1.8
AR ER LR % % ® T % #® 150 1.5 126 13| 200
A E RS F Ao L %A 129 3.0 162 2.0
= =z T C 2 150 5.0 - -
T % £ & T % #H 129 1.3 133 1.0
®  ® T = # 144 10.0 147 35
N TR EE 119 1.7 128 1.5
L= & £ 7 ® ® T % W 119 1.3 119 151 200
" @ = # 143 6.5 143 2.0
® = = & 122 2.0 124 1.5




	共通テスト併用方式後期　結果
	共通テスト併用方式後期　合格ライン

